MS205STBK Microphone Stand

Production since Aug. 2018

No. Model No. Description
1 MS200-1B Leg (black)

1-1 |JBMS2 Nylon bushing w/ bolt & nut

1-2 |205-RF Rubber tip
2 BSMS2 Base assembly

2-1 |205-NB1 Nylon bushing for base

2-2 |IN8 Insert nut (M8)

2-3 |205-TB T-bolt (M8x14mm)

3 MS205ST-2B Lower pipe (black)

4 |205-PR1 Plastic collar
5 |205-GPB Grip only (black)
6 205-BB Rubber spacer
7 MS205ST-3B Upper pipe (black)
7-1 |205-PRB Plastic ring (below side)
7-2 |205-PRA Plastic ring (upper side)
8 205-RW Rubber washer (2pcs/set)
9 |205-BP Boom plate
10 |205-HDS Torque nut & bolt
11 |455-BH Boom holder set
11-1 [455-NBS Nylon bushing w/ metal Tip
11-2 |IN6 Insert nut (M6)
11-3 [205-NNB Round screw (black, M6x12mm)
12 |MS205ST-4B Boom pipe only
13 |205-LN Lock nut

14 |AD58E Adapter




MS205STBK Microphone Stand

@ No. Model No. Description
‘ 9 . 1 |ms200-18 Leg (black)
.
14 ‘ TS 1-1 [JBMS2 Nylon bushing w/ bolt & nut
13 \:«Z‘\:\ 11 1-2 |205-RF Rubber tip
.
P 2  |BSMS2 Base Assembly
Sanl1-111-211-3 :
1 2 A 2-1 |205-NB1 Nylon bushing for base
@ et
I B&Q) ) 2-2 |IN8 Insert nut (M8)
i/
o -~ 23 [205-TB T-bolt (M8x14mm)
& (o]
LL,/‘ o 3 |MS205ST-2B Lower pipe (black)
& y -
‘ ﬁj«}f» 4 |205-PR1 Plastic collar
8 9 5 205-GPB Grip only (black)
6 |205-BB Rubber spacer
1 0 7 MS205ST-3B Upper pipe (black)
2-1 2-2 7-1 |205-PRB Plastic ring (below side)
_ﬁ 7-2 |205-PRA Plastic ring (upper side)
- 423
8 |205-RW Rubber washer (2pcs/set)
‘m 2 9 205-BP Boom plate
i 10 |205-HDS Torque nut & bolt
— 11 |205-BH Boom holder set
—
11-1 |205-NB2 Nylon bushing for boom holder
11-2 [IN6 Insert nut (M6)
11-3 |205-NN Round screw
12 |MS205ST-4B Boom pipe only
13 [205-LN Lock nut
14 |AD58E Adapter




	MS205STBK_2018.pdf
	MS205STBK_Old.pdf

